www.lofrans.it

View drawing

Part
209
217
226
255
268
276a
276b
276¢
276d
276e
276f
2769
276h

500
501
502
503
504
505
506
836
KB02101
KC02101
KD02101

Download DWG Download DXF

Royal
Description
Key 6x6x30
Hex hd screw M8x20 Uni 5739
Washer M8 Uni 6592
Key 6x6x25
Nylon bush
Gipsy chain 6
Gipsy chain 7
Gipsy chain 8
Gipsy chain 5/16" HT
Gipsy chain 10
Gipsy chain 3/8" Din 766
Gipsy chain 3/8" BBB
Gipsy chain 3/8" HT
Clutch cone - inner
Wingnut
Clutch cone - outer
Clutch cone - outer for #276 type d-e-f-g-h gipsy
Spring
Stripper
Drum
Washer 6,5-33-3
Hex hd screw M6x20 Uni 5739
Conic hd screw M6x16 Uni 5933
Cover
Nylon bush
Bevel gear
Nylon bush
Nylon bush
Bevel gear
Dog clutch
Dog clutch
Nylon bush
Bevel gear
Circlip 38 Din 471
Iron key 6x6x50
Main shaft
Hd cap screw M14x45 Uni 5931
Washer 15-24-2
Body
Emergency wheel
Handle
Kit B - Screw&Nuts for Royal
Kit C - Keys for Royal
Kit D - Circlips for Royal

Kit
Kit C
Kit B
Kit B
Kit C

Kit B
Kit B

Kit D
Kit C

Kit B

http://www.lof rans.it/esplosi/central eGB.asp?d=B02101& description=Royal

Pagelof 1

View table

Q.ty

R R R R R R NNR R PR R R RPRNNRRNRORRRRPRRRRRPRRRRRRRRPR R AR NNDNDN

08/02/2010



